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HilEKafka RIXBEN—RE2E BRI EEIKeyedMessageZE :

val message = new KeyedMessage[String, String](topic, key, content)
producer.send(message)
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If the key is null, then the Producer will assign the message to a random Partition.

XOENFE LIEEZ ,%,E.l, RERBIREkey(null) , EBZL¢,$,§?JEAF¢§1‘}I7EJ£ a— 1 Partit

ion, EEXBINEXAMPABEARR , BUMIBXREXE) ? HKiIkEEKfkaRilaitE
Partition IDHY :

private def getPartition(topic: String, key: Any,
topicPartitionList: Seq[PartitionAndLeader]): Int = {
val numPartitions = topicPartitionList.size
if(numPartitions <= 0)
throw new UnknownTopicOrPartitionException("Topic " + topic + " doesn't exist")
val partition =
if(key == null) {
/1 If the key is null, we don't really need a partitioner
/1 So we look up in the send partition cache for the
// topic to decide the target partition
val id = sendPartitionPerTopicCache.get(topic)
id match {
case Some(partitionld) =>
// directly return the partitionId without checking availability
/1 of the leader, since we want to postpone the failure until
// the send operation anyways
partitionId
case None =>
val availablePartitions = topicPartitionList
filter(_.leaderBrokerIdOpt.isDefined)
if (availablePartitions.isEmpty)
throw new LeaderNotAvailableException("No
leader for any partition in topic " + topic)
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val index = Utils.abs(Random.nextInt) % availablePartitions.size
val partitionld = availablePartitions(index).partitionld
sendPartitionPerTopicCache.put(topic, partitionId)
partitionId
}
} else
partitioner.partition(key, numPartitions)
if(partition <0 | | partition >= numPartitions)
throw new UnknownTopicOrPartitionException("Invalid partition id: "
+ partition + " for topic " + topic
+"; Valid values are in the inclusive range of [0, "
+ (numPartitions-1) + "1")
trace("Assigning message of topic %s and key %s to a selected partition %d
".format(topic, if (key == null) "[none]" else key.toString, partition))
partition

}
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if (topicMetadataRefreshinterval >= 0 &&
SystemTime.milliseconds - lastTopicMetadataRefreshTime >
topicMetadataRefreshInterval) {
Utils.swallowError(brokerPartitionInfo
.updatelnfo(topicMetadataToRefresh.toSet, correlationld.getAndIncrement))
sendPartitionPerTopicCache.clear()
topicMetadataToRefresh.clear
lastTopicMetadataRefreshTime = SystemTime.milliseconds
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Originally the producer behavior under null-key is "random" random, but
later changed to this "periodic" random to reduce the number of sockets on
the server side: imagine if you have n brokers and m producers where m >>>

n, with random random distribution each server will need to maintain a
socket with each of the m producers.

We realized that this change IS misleading and we have changed back to
random random in the new producer released in 0.8.2.

fEKafka new producer LR KeyAnullME & B2 EFEAR R RIPartition :

if (record.partition() != null) {
// they have given us a partition, use it
if (record.partition() < 0 | | record.partition() >= numPartitions)
throw new IllegalArgumentException("Invalid partition given with record: "
+ record.partition()
+"is not in the range [0..."
+ numPartitions
+".");
return record.partition();
} else if (record.key() == null) {
int nextValue = counter.getAndIncrement();
List<PartitionInfo> availablePartitions = cluster
.availablePartitionsForTopic(record.topic());
if (availablePartitions.size() > 0) {
int part = Utils.abs(nextValue) % availablePartitions.size();
return availablePartitions.get(part).partition();
} else {
// no partitions are available, give a non-available partition
return Utils.abs(nextValue) % numPartitions;
}
} else {
// hash the key to choose a partition
return Utils.abs(Utils.murmur2(record.key())) % numPartitions;

}
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